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Assignment

Identify the vertical asymptotes and horizontal asymptote of each.  Then sketch the graph.

1)  

  

f (

  

x) = 

 

−
4

  

x

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

2)  

  

f (

  

x) = 

 

3

   

x + 2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

3)  

  

f (

  

x) = 

 

−
4

   

x − 1

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

4)  

  

f (

  

x) = 

 

−
3

   

x + 1

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-1-



©b U26001Y22 qKtu7tEaH QSqozfdtXwUaIrZeo ALiLYCQ.C Y 5ADlhlM 5rfiXgFhMtCsA grIebsBeUr6voeQdh.w D OMvaedkec 9w5ibtihy MI On4fKi7n5iYtZeS bARl8gFe9b0rEap Y2a.U Worksheet by Kuta Software LLC

5)  

  

f (

  

x) = 

 

−
1

   

x − 2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

6)  

  

f (

  

x) = 

 

−
2

   

x + 3

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

7)  

  

f (

  

x) = 

 

−
2

  

x

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

8)  

  

f (

  

x) = 

 

4

   

x − 1

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-2-



©p T2b021n2y ZKXuZt3a1 ySeorfztuwRaSrOeh iLxLMCS.l b RAnlPlJ Brki2gRhEtxst 3rBeksxeyr8vuesdZ.s s uMgaFdveJ PwHistkh7 mI DnifYiln9iyt9eY JAPl0gCeGb6rJab W2h.D Worksheet by Kuta Software LLC

9)  

  

f (

  

x) = 

 

−
4

   

x − 2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

10)  

  

f (

  

x) = 

  

−
1

   

x − 1
 + 1

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

11)  

  

f (

  

x) = 

  

−
2

   

x − 2
 + 3

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

12)  

  

f (

  

x) = 

  

−
1

   

x + 3
 + 3

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-3-



©n t2F0Q1r2K DKMuUtdaL eSioyfttdwUaTraen 7LwLwCk.0 K 3AzlMlC MrfiigHhCt9s5 Erbeqs1ePrivJeHdo.Q c KMjazdteE iwUiytBhC iI undfMiknqiBtAe0 FAelTgoeVbCrMa2 N28.p Worksheet by Kuta Software LLC

13)  

  

f (

  

x) = 

  

1

   

x − 2
 − 3

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

14)  

  

f (

  

x) = 

  

2

   

x + 2
 + 3

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

15)  

  

f (

  

x) = 

  

−
4

   

x − 2
 − 1

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

-4-



©b Q2b041u2Z eK4uAtwaD cScoqfWtJw1arrAes zLmLGCO.u c 7Aolcl2 orvipgOhXtEsD OrfeqsreIrgvdeJdI.v U eMgaTdoe5 Dwmiftuhk QI insf2ijnCiRtpeb jAhlRgGewb6rlau J2O.F Worksheet by Kuta Software LLC

Algebra 2
ID: 1

Name___________________________________

  Period____Date________________
©C j2B0C1B2q LKPuOt9a8 9S2oZf stQwWaNr1eb PLHLaCp.9 C uAOlKl D pr2i 9g0hAtSs8 grUeNseeArvv9eLdL.t
Assignment

Identify the vertical asymptotes and horizontal asymptote of each.  Then sketch the graph.
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